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1. in the paragraph given below one word is missing from each sentence. write the missing word along with the

word that comes before and the word that comes after it in your answer sheets against the correct blank number.

Ensure that the word that forms your answer is underlined.

Some animals, if trained properly and the love e.g. and given the

they deserve, can more useful and faithful (a) ............................

than human beings. This fact been proved by (b) ............................

scientific research. However, in India, the picture shocking. (c) ............................

Even in big cities like Delhi we can a number of animals roaming (d) ............................

about freely in search of food and shelter. These stray animals. (e) ............................

Their owners abandon them as they old. These stray animals (f) ............................

sometimes serious road accidents. They are living (g) ............................

beings like us. They should not considered inferior at any cost. (h) ............................

2. Complete the following letter with suitable tense forms of the verbs given in the brackets.

Dear Sir

I (a) ............................ (feel) highly obliged if you publish the following lines in your esteemed daily. There

(b) ............................ (be) a steady increase in CO
2
 levels over the years which (c) ............................

(lead) to rise in global warming. If one (d) ............................ (look) at the figures of CO
2
 levels over the

decade it becomes clear that there (e) ............................ (be) an upward movement. There (f)

............................ (be) various reasons for increased CO
2
 levels. These (g) ............................ (include)

increasing pollution, depletion of ozone layer and deforestation. Over the years, man (h) ............................

(indulge) in activities which have led to this deterioration. Shall we ever learn ?

3. The following paragraph has not been edited. There is one error in each line. Write the correct word and the

correction as given in the example against the correct blank number in your answer sheets. Ensure that the

word that you have supplied is underlined.

The praying mantis is a large green insect that eat other insects. e.g. eat eats

The praying mantis are usually about three inches long (a) ............................

but, there is also several smaller and larger varieties. (b) ............................

It have a pair of long antennae or ‘feelers’ and a queer ugly head. (c) ............................

The wings were long and narrow, but widening at the ends. (d) ............................

When the insect is rested, they are folded neatly over (e) ............................

the back. When expanded, it is seeing that the wings number four (f) ............................

and that they are elegantly shape and semi-transparent. Some (g) ............................

species of mantis has gaily coloured and prettily marked wings. (h) ............................
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4. In the passages given below the tense of the underlined verb has been used inappropriately. Tick () the

correct use of the tense of the verb from the choices given below.

A. Fowler (a) surprised to see the secret agent Ausable who (b) were too fat to be a secret agent. Ausable

(c) will told him that he (d) was gone to get an important paper for which many men (e) risked their lives.

(a) (i) is surprised surprises (ii) was surprised

(iii) surprises (iv) has surprised

(b) (i) is (i) was

(iii) being (iv) has

(c) (i) told (ii) will tell

(iii) tells (iv) has told

(d) (i) gone (ii) went

(iii) had gone (iv) goes

(e) (i) risk (ii) has risked

(iii) had risked (iv) risking

B. There (a) lives  many rabbits in their burrows in the lake area. When the herds of elephants (b) walking around

they (c) stamps the burrows with their heavy feet. Thus, many rabbits (d) is either (e) kill or left handicapped.

(a) (i) live. (ii) will live

(iii) has lived (iv) lived

(b) (i) walk (ii) are walking

(iii) will walk (iv) has walked

(c) (i) stamp (ii) stamped

(iii) are stamping (iv) will stamp

(d) (i) are (ii) will be

(iii) were (iv) was

(e) (i) kills (ii) killed

(iii) will kill (iv) has killed

5. Choose the correct alternative.

(a) The teacher ...................... to meet you.

(i) wants (ii) want (iii) is wanting (iv) will wanted

(b) She ...................... just ...................... her work.

(i) has ; finished (ii) X ; finished (iii) had ; finished (iv) is ; finishing

(c) Mohan ...................... for you since morning.

(i) has wanted (ii) has been waiting (iii) had waited (iv) waited

(d) I ...................... a lot of work today.

(i) have done (ii) has done (iii) did (iv) is doing

(e) He will tell you when he ...................... back.

(i) comes (ii) will come (iii) has come (iv) came
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6. Choose the correct alternative.

(a) He ...................... English for five years.

(i) has been studying (ii) studies (iii) studied (iv) studies

(b) He ...................... him for many years.

(i) has known (ii) know (iii) knew (iv) is knowing

(c) If you ...................... hard, you will not pass.

(i) don’t work (ii) didn’t work hard (iii) does not work (iv) will not work

(d) I will inform you when he ...................... back.

(i) comes (ii) came (iii) will come (iv) has come

(e) The train ...................... before we reach the station.

(i) has left (ii) left (iii) leave (iv) will have left

7. Read the following sentences carefully and mark them as wrong (W) or right (R).

(a) (i) He has not bought a car till yesterday. (ii) He had not bought a car till yesterday.

(iii) He have not bought a car till yesterday.

(b) (i) I have comeryesterday. (ii) I came yesterday.

(iii) I will come yesterday.

(c) (i) They are studying for five hours. (ii) They have been studying for five hours.

(iii) They will studied for five hours.

(d) (i) We did not read ‘Hamlet’ till we were in class eleven.

(ii) We had not read ‘Hamlet’ till we were in class eleven.

(iii) We could not reading ‘Hamlet’till we were in class eleven.

(e) (i) I am working here since 1992. (ii) I was working here since 1992.

(iii) I have been working here since 1992.

(f) (i) I go to school on foot daily. (ii) I am going to school on foot daily.

(iii) I will go to school on foot daily.

(g) (i) Why do you like this place ? (ii) Why are you liking this place ?

(iii) Why you like this place ?

(h) (i) I have a blue pen. (ii) I am having a blue pen.

(iii) I has a blue pen.

(i) (i) If it rained, we shall not go out. (ii) If it rains, we shall not go out.

(iii) If it will rain, we shall not go out.

(j) (i) He is having a large family. (ii) He has a large family.

(iii) He will has a large family.
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